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NEW QUESTION 1
In an existing IaaS instance, it is required to deploy a single application that has different versions. Which of the following should be recommended to meet this
requirement?

A. Deploy using containers
B. Install a Type 2 hypervisor
C. Enable SR-IOV on the host
D. Create snapshots

Answer: A

NEW QUESTION 2
A support engineer wants to prevent users from running malware on several IaaS compute instances. Which of the following will BEST achieve this objective?

A. Encrypt all applications that users should not access.
B. Set the execute filesystem permissions on the desired applications only.
C. Implement an application whitelisting policy.
D. Disable file sharing on the instance.

Answer: C

NEW QUESTION 3
Some VMs that are hosted on a dedicated host server have each been allocated with 32GB of memory. Some of VMs are not utilizing more than 30% of the
allocation. Which of the following should be enabled to optimize the memory utilization?

A. Auto-scaling of compute
B. Oversubscription
C. Dynamic memory allocations on guests
D. Affinity rules in the hypervisor

Answer: C

NEW QUESTION 4
A cloud administrator has finished setting up an application that will use RDP to connect. During testing, users experience a connection timeout error.
Which of the following will MOST likely solve the issue?

A. Checking user passwords
B. Configuring QoS rules
C. Enforcing TLS authentication
D. Opening TCP port 3389

Answer: D

NEW QUESTION 5
An organization is developing a new solution for hosting an external website. The systems administrator needs the ability to manage the OS. Which of the following
methods would be MOST suitable to achieve this objective?

A. Deploy web servers into an laaS provider.
B. Implement a cloud-based VDI solution.
C. Provision web servers in a container environment.
D. Use PaaS components in the cloud to implement the product.

Answer: C

NEW QUESTION 6
A cloud administrator is switching hosting companies and using the same script that was previously used to deploy VMs in the new cloud. The script is returning
errors that the command was not found.
Which of the following is the MOST likely cause of the script failure?

A. Account mismatches
B. IP address changes
C. API version incompatibility
D. Server name changes

Answer: D

NEW QUESTION 7
An engineer is responsible for configuring a new firewall solution that will be deployed in a new public cloud environment. All traffic must pass through the firewall.
The SLA for the firewall is 99.999%. Which of the following should be deployed?

A. Two load balancers behind a single firewall
B. Firewalls in a blue-green configuration
C. Two firewalls in a HA configuration
D. A web application firewall
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Answer: C

NEW QUESTION 8
A company that utilizes an IaaS service provider has contracted with a vendor to perform a penetration test on its environment. The vendor is able to exploit the
virtualization layer and obtain access to other instances within the cloud provider’s environment that do not belong to the company.
Which of the following BEST describes this attack?

A. VM escape
B. Directory traversal
C. Buffer overflow
D. Heap spraying

Answer: A

NEW QUESTION 9
A cloud administrator checked out the deployment scripts used to deploy the sandbox environment to a public cloud provider. The administrator modified the script
to add an application load balancer in front of the web- based front-end application. The administrator next used the script to recreate a new sandbox environment
successfully, and the application was then using the new load balancer.
The following week, a new update was required to add more front-end servers to the sandbox environment. A second administrator made the necessary changes
and checked out the deployment scripts. The second administrator then ran the script, but the application load balancer was missing from the new deployment.
Which of the following is the MOST likely reason for this issue?

A. The license limit on the number of server deployments allowed per month was exceeded
B. The deployment script changes made by the first administrator were not checked in and committed
C. The new server images were incompatible with the application load-balancer configuration
D. The application load balancer exceeded the maximum number of servers it could use

Answer: B

NEW QUESTION 10
A systems administrator has finished installing monthly updates to servers in a cloud environment. The administrator notices certain portions of the playbooks are
no longer functioning. Executing the playbook commands manually on a server does not work as well. There are no other reports of issues.
Which of the following is the MOST likely cause of this issue?

A. Change management failure
B. Service overload
C. Patching failure
D. Job validation issues
E. Deprecated features

Answer: D

NEW QUESTION 10
An organization will be deploying a web application in a public cloud with two web servers, two database servers, and a load balancer that is accessible over a
single public IP.
Taking into account the gateway for this subnet and the potential to add two more web servers, which of the following will meet the minimum IP requirement?

A. 192.168.1.0/26
B. 192.168.1.0/27
C. 192.168.1.0/28
D. 192.168.1.0/29

Answer: B

NEW QUESTION 13
An update is being deployed to a web application, and a systems administrator notices the cloud SQL database has stopped running. The VM is responding to
pings, and there were not any configuration changes scheduled for the VM. Which of the following should the administrator check NEXT?

A. Logs on the VM
B. Firewall on the VM
C. Memory on the VM
D. vGPU performance on the VM

Answer: A

NEW QUESTION 16
A company has deployed a new cloud solution and is required to meet security compliance.
Which of the following will MOST likely be executed in the cloud solution to meet security requirements?

A. Performance testing
B. Regression testing
C. Vulnerability testing
D. Usability testing

Answer: C
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NEW QUESTION 18
Which of the following cloud services is fully managed?

A. IaaS
B. GPU in the cloud
C. IoT
D. Serverless compute
E. SaaS

Answer: C

NEW QUESTION 21
A cloud architect is designing the VPCs for a new hybrid cloud deployment. The business requires the following:

 High availability
 Horizontal auto-scaling
 60 nodes peak capacity per region
 Five reserved network IP addresses per subnet
 /24 range
Which of the following would BEST meet the above requirements?

A. Create two /25 subnets in different regions
B. Create three /25 subnets in different regions
C. Create two /26 subnets in different regions
D. Create three /26 subnets in different regions
E. Create two /27 subnets in different regions
F. Create three /27 subnets in different regions

Answer: B

NEW QUESTION 23
A systems administrator is creating a playbook to run tasks against a server on a set schedule.
Which of the following authentication techniques should the systems administrator use within the playbook?

A. Use the server’s root credentials
B. Hard-code the password within the playbook
C. Create a service account on the server
D. Use the administrator’s SSO credentials

Answer: D

NEW QUESTION 26
A private IaaS administrator is receiving reports that all newly provisioned Linux VMs are running an earlier version of the OS than they should be. The
administrator reviews the automation scripts to troubleshoot the issue and determines the scripts ran successfully. Which of the following is the MOST likely cause
of the issue?

A. API version incompatibility
B. Misconfigured script account
C. Wrong template selection
D. Incorrect provisioning script indentation

Answer: C

NEW QUESTION 30
A systems administrator recently upgraded the processors in a web application host. Upon the next login, the administrator sees a new alert regarding the license
being out of compliance.
Which of the following licensing models is the application MOST likely using?

A. Per device
B. Per user
C. Core-based
D. Volume-based

Answer: C

NEW QUESTION 33
An IaaS application has a two-hour RTO and a four-hour RPO. The application takes one hour to back up its data or restore from a local backup file. A systems
administrator is tasked with configuring the backup policy.
Which of the following should the administrator configure to achieve the application requirements with the LEAST cost?

A. Back up to long-term storage every night
B. Back up to object storage every three hours
C. Back up to long-term storage every four hours
D. Back up to object storage every hour
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Answer: D

NEW QUESTION 38
An organization purchased new servers with GPUs for render farms. The servers have limited CPU resources. Which of the following GPU configurations will be
the MOST optimal for virtualizing this environment?

A. Dedicated
B. Shared
C. Passthrough
D. vGPU

Answer: D

NEW QUESTION 43
A company has developed a cloud-ready application. Before deployment, an administrator needs to select a deployment technology that provides a high level of
portability and is lightweight in terms of footprint and resource requirements.
Which of the following solutions will be BEST to help the administrator achieve the requirements?

A. Containers
B. Infrastructure as code
C. Desktop virtualization
D. Virtual machines

Answer: A

NEW QUESTION 48

An organization requires the following to be achieved between the finance and marketing departments: 

Allow HTTPS/HTTP.
 Disable FTP and SMB traffic.
Which of the following is the MOST suitable method to meet the requirements?

A. Implement an ADC solution to load balance the VLAN traffic
B. Configure an ACL between the VLANs
C. Implement 802.1X in these VLANs
D. Configure on-demand routing between the VLANs

Answer: B

NEW QUESTION 50
A company needs to rehost its ERP system to complete a datacenter migration to the public cloud. The company has already migrated other systems and
configured VPN connections.
Which of the following MOST likely needs to be analyzed before rehosting the ERP?

A. Software
B. Licensing
C. Right-sizing
D. The network

Answer: B

NEW QUESTION 53
A global web-hosting company is concerned about the availability of its platform during an upcoming event. Web traffic is forecasted to increase substantially
during the next week. The site contains mainly static content.
Which of the following solutions will assist with the increased workload?

A. DoH
B. WAF
C. IPS
D. CDN

Answer: D

NEW QUESTION 57
A cloud administrator is reviewing a new application implementation document. The administrator needs to make sure all the known bugs and fixes are applied,
and unwanted ports and services are disabled.
Which of the following techniques would BEST help the administrator assess these business requirements?

A. Performance testing
B. Usability testing
C. Vulnerability testing
D. Regression testing

Answer: C

NEW QUESTION 58
A company is planning to migrate applications to a public cloud, and the Chief Information Officer (CIO) would like to know the cost per business unit for the

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure CV0-003 dumps!
https://www.certshared.com/exam/CV0-003/ (144 Q&As)

applications in the cloud. Before the migration, which of the following should the administrator implement FIRST to assist with reporting the cost for each business
unit?

A. An SLA report
B. Tagging
C. Quotas
D. Showback

Answer: D

NEW QUESTION 63
An organization suffered a critical failure of its primary datacenter and made the decision to switch to the DR site. After one week of using the DR site, the primary
datacenter is now ready to resume operations.
Which of the following is the MOST efficient way to bring the block storage in the primary datacenter up to date with the DR site?

A. Set up replication.
B. Copy the data across both sites.
C. Restore incremental backups.
D. Restore full backups.

Answer: A

NEW QUESTION 65
After a hardware upgrade on a private cloud system, the systems administrator notices a considerable drop in network performance. Which of the following is
MOST likely the cause?

A. The driver
B. The memory
C. The cluster placement
D. The CPU

Answer: C

NEW QUESTION 70
A systems administrator is configuring RAID for a new server. This server will host files for users and replicate to an identical server. While redundancy is
necessary, the most important need is to maximize storage.
Which of the following RAID types should the administrator choose?

A. 5
B. 6
C. 10
D. 50

Answer: C

NEW QUESTION 74
An organization is hosting a cloud-based web server infrastructure that provides web-hosting solutions. Sudden continuous bursts of traffic have caused the web
servers to saturate CPU and network utilizations.
Which of the following should be implemented to prevent such disruptive traffic from reaching the web servers?

A. Solutions to perform NAC and DLP
B. DDoS protection
C. QoS on the network
D. A solution to achieve microsegmentation

Answer: B

NEW QUESTION 79
A cloud administrator is planning to migrate a globally accessed application to the cloud.
Which of the following should the cloud administrator implement to BEST reduce latency for all users?

A. Regions
B. Auto-scaling
C. Clustering
D. Cloud bursting

Answer: A

NEW QUESTION 83
A cloud administrator is designing a multiregion network within an IaaS provider. The business requirements for configuring the network are as follows:
 Use private networking in and between the multisites for data replication.
 Use low latency to avoid performance issues.
Which of the following solutions should the network administrator use within the IaaS provider to connect multiregions?

A. Peering
B. Gateways
C. VPN
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D. Hub and spoke

Answer: C

NEW QUESTION 87
A cloud administrator recently noticed that a number of files stored at a SaaS provider’s file-sharing service were deleted. As part of the root cause analysis, the
administrator noticed the parent folder permissions were modified last week. The administrator then used a test user account and determined the permissions on
the files allowed everyone to have write access.
Which of the following is the best step for the administrator to take NEXT?

A. Identify the changes to the file-sharing service and document
B. Acquire a third-party DLP solution to implement and manage access
C. Test the current access permissions to the file-sharing service
D. Define and configure the proper permissions for the file-sharing service

Answer: D

NEW QUESTION 90
A cloud engineer is responsible for managing a public cloud environment. There is currently one virtual network that is used to host the servers in the cloud
environment. The environment is rapidly growing, and the network does not have any more available IP addresses. Which of the following should the engineer do
to accommodate additional servers in this environment?

A. Create a VPC and peer the networks.
B. Implement dynamic routing.
C. Enable DHCP on the networks.
D. Obtain a new IPAM subscription.

Answer: A

NEW QUESTION 91
A developer is no longer able to access a public cloud API deployment, which was working ten minutes prior. Which of the following is MOST likely the cause?

A. API provider rate limiting
B. Invalid API token
C. Depleted network bandwidth
D. Invalid API request

Answer: D

NEW QUESTION 94
A systems administrator is trying to reduce storage consumption. Which of the following file types would benefit the MOST from compression?

A. System files
B. User backups
C. Relational database
D. Mail database

Answer: B

NEW QUESTION 99
A systems administrator notices that a piece of networking equipment is about to reach its end of support. Which of the following actions should the administrator
recommend?

A. Update the firmware
B. Migrate the equipment to the cloud
C. Update the OS
D. Replace the equipment

Answer: A

NEW QUESTION 104
An administrator is performing an in-place upgrade on a quest VM operating system.
Which of the following can be performed as a quick method to roll back to an earlier state, if necessary?

A. A configuration file backup
B. A full backup of the database
C. A differential backup
D. A VM-level snapshot

Answer: D

NEW QUESTION 109
A company recently subscribed to a SaaS collaboration service for its business users. The company also has an on-premises collaboration solution and would like
users to have a seamless experience regardless of the collaboration solution being used.
Which of the following should the administrator implement?
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A. LDAP
B. WAF
C. VDI
D. SSO

Answer: A

NEW QUESTION 112
A systems administrator is deploying a GPU-accelerated VDI solution. Upon requests from several users, the administrator installs an older version of the OS on
their virtual workstations. The majority of the VMs run the latest LTS version of the OS.
Which of the following types of drivers will MOST likely ensure compatibility will all virtual workstations?

A. Alternative community drivers
B. Legacy drivers
C. The latest drivers from the vendor’s website
D. The drivers from the OS repository

Answer: C

NEW QUESTION 117
A company has an in-house-developed application. The administrator wants to utilize cloud services for additional peak usage workloads. The application has a
very unique stack of dependencies. Which of the following cloud service subscription types would BEST meet these requirements?

A. PaaS
B. SaaS
C. DBaaS
D. IaaS

Answer: D

NEW QUESTION 119
A software development manager is looking for a solution that will allow a team of developers to work in isolated environments that can be spun up and torn down
quickly.
Which of the following is the MOST appropriate solution?

A. Containers
B. File subscriptions
C. Ballooning
D. Software-defined storage

Answer: A

NEW QUESTION 121
A cloud administrator is setting up a DR site on a different zone of the same CSP. The application servers are replicated using the VM replication, and the
database replication is set up using log shipping. Upon testing the DR site, the application servers are unable to access the database servers. The administrator
has verified the systems are running and are accessible from the CSP portal.
Which of the following should the administrator do to fix this issue?

A. Change the database application IP
B. Create a database cluster between the primary site and the DR site
C. Update the connection string
D. Edit the DNS record at the DR site for the application servers

Answer: C

NEW QUESTION 123
After analyzing a web server’s logs, a systems administrator sees that users are connecting to the company’s application through HTTP instead of HTTPS. The
administrator then configures a redirect from HTTP to HTTPS on the web server, and the application responds with a connection time-out message.
Which of the following should the administrator verify NEXT?

A. The TLS certificate
B. The firewall rules
C. The concurrent connection limit
D. The folder permissions

Answer: A

NEW QUESTION 124
A company developed a product using a cloud provider’s PaaS platform and many of the platform-based components within the application environment.
Which of the following would the company MOST likely be concerned about when utilizing a multicloud strategy or migrating to another cloud provider?

A. Licensing
B. Authentication providers
C. Service-level agreement
D. Vendor lock-in

Answer: D
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NEW QUESTION 128
A VDI administrator has received reports from the drafting department that rendering is slower than normal. Which of the following should the administrator check
FIRST to optimize the performance of the VDI infrastructure?

A. GPU
B. CPU
C. Storage
D. Memory

Answer: D

NEW QUESTION 130
A company is concerned about the security of its data repository that contains customer PII. A systems
administrator is asked to deploy a security control that will prevent the exfiltration of such data. Which of the following should the systems administrator implement?

A. DLP
B. WAF
C. FIM
D. ADC

Answer: A

NEW QUESTION 131
......
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